Q-1

Note: Figures to the right indicate full marks of the question. Total Marks: 60
Following data is available for the product mix of a company.
Particulars Product
- X Y z

Raw materials Consumed per unit 10 kgs. 6 kgs. - 15 kgs
Labour hour required (Rate Rs.1 per hour) 45 Hour 75 Hour 60 Hour
Selling price {Rs.) 375 Rs, 300Rs, 600 Rs.
Maximum Possible Production units 12000 2000 6000
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200000 kgs of raw material is available at Rs.30 per kg.

From the above information, state what should be the output of each product so as to

maximise the profit? If the company faces extreme shortage of Labour hour, how would

product rank change?

OR

15

A manufacturer is thinking whether he should drop one item from has product line and replaces 15

it with another. Below are given his present cost and output data:

Product | Selling Price Rs. | Variable cost per unit | Percentage share in total sales
A 160 120 20%
B 200 140 50%
¢ | 320 200 30%
Total fixed cost per year ~ Rs. 100000
Total Sales in last yeaf . Rs. 400000 |

product M. In the event of this change being made, the manufacturer forecasts the following cost

change under oonmdera.non is for moppmg the proauc;t A in preference to anothel

and output data. _
Product | Selling Price Rs. | Variable cost per unit | Percentage share in total sales

M 240 120 15%

B 200 140 45%

C 320 200 40%
Total Fixed cost per year Rs. 100000
Total Sales in last year Rs. 400000

Should this proposal be accepted? Comment.
(P10)




Q-2 (A) Explain difference between Marginal Cost and Differential Cost. | 15

(B) Explain the meaning of differential cost Analysis and its Significance.

OR
Q-2 taxmiCo.Ltd. is manufacturing” Calculator” which give the following information. 15
Particulars Rs.

Materials 120000

Wages 240000

Fixed overheads 120000

Variable overheads (25% of wage) 60000

Units produced 12000 units |

Selling Price per unit Rs.50

Production capacity (Ann'u;él}-' © 20000 units |

The company has received an offer for an additional 5000 units to purchase at a selling price

per units Rs.40 from one overseas customer, It is assumed that if this offer is accepted the

materials cost of all production units would result In a saving of Rs. 1 per unit. Fixed overhead

will increase by Rs. 34000 and in all production; there will be an increase of 2% on wages.

You are requested to determine whether this offer should be accepted by the company or

not, Shaw your calculation in support of your answer,

Q-3 Prepare statement showing following details from the Balance Sheets and other details given 15

below of the Maruti Trading Co.Ltd

(1) Changes in Working Capital (2) Necessary Account
(3) Sources and Application of Funds.
Liabilities 31-3-17 31-3-18 Assets 31-3-17 | 31-3-18
Share Capital 180000 | 180000 | Plant and Machinery 240000 | 192000
Preference Share 90000 | 90000 | Investments 30000 | 36000
General Reserve 180000 | 186000 | Stock 120000} 117000
Profit and Loss A/c 18000 | 21000 | Bills Receivable 24000 9000
| Capital Reserve 15600 | 19800 | Debtors 120000 | 273000
Debenture -| 162000 | Bank balances 95400 | 118200
Creditors 54000 45000
Bills Payable 46800 | 35400
Provision for Taxation 45000 6000
6294001 745200 629400 | 745200

Other information are as follows

(1) During the year investments worth Rs.4800 were sold at a price of Rs. 5100 and new

investments worth Rs.10800 were purchased.
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(2) Net Profit of the year was Rs.37200 after providing for depreciation of Rs, 42000 on Plant
and Machinery and Rs. 6000 Provision for Taxation.

(3) During the year Plant and Machinery worth Rs. 6000 were sold at a price of Rs. 7200 and the
profit on the same was credited to profit and Loss Account.
(4) During the year Rs. 24000 were paid as Dividend.

OR
Q-3 (A) The following are the comparative Baldnce Sheets as on 31% December 2016 and 2017 ; 10
BALANCE SHEETS
Liabilities 2016 2017 Assets 2016 2017
Rs. Rs. Rs. Rs.
Share Capital 100000 ; 130000 | Fixed Assets :
B;eserves & Snrplus 42000 48000 | Land & Buildiﬁgs 58000 | 62000
Debentures 80000 | 80000 | Machinery | 160000 | 204000 |
Carrent Liabilities : Current Assets : .
Trade Creditors _ 31000 34000 | Stock 42000 | 54000
Creditors for Expenses 6000 6000 | Debtors 44000 | 24000
Provision for Doubtful Debts 3000 2600 | Cash 16000 | 22000
Provision for Depreciation 58000 65400
320000 | 366000 320000 | 366000
From the above information, prepare stafement of Changes in Working Capital '
(B) What is Fund Flow Statement? Explain its Utilities, ' s
Q-4 The following are the balance sheet of Kirtan Ltd, as on 31-3-2017 and 31-3-18 15
Liabilities 31-3-17 | 31-3-18 Assets 31-3-17'} 31-3-18
Equity Share of Rs.10 each 90000 | 180000 | Land & Building 132000 ; 135000
General Reserve 90000 | 72000 | Plant & Machinery | 90000 ; 132000
Profit and Los Account 30000 | 36000 | Investment 12000 | 21000
12% convertible _ Stock - 21000 | 27000
| debenture each 100 ‘| 60000 | 30000 | Debtors 30000 | 25200
Creditors 18000 | 12000 | Bank - ‘ 12060 18300
Unpaid expenses 3000 | 6000 | Bills receivables | 15000 ] 12000
Provision for Taxation 15000 | 18000 | Preliminary Exp. 3000 1500
Proposed Dividend 9000 | 18000
315000 | 372000 315000 | 372000

Additional Information - During the year ending 31-3-2018
(1) The company issued bonus share to existing Equity share holders by capitalizing the required

sum from general reserve in the proportion of 3:2
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Q-4

(2) After issuing bonus share the company converted 300 Convertible debentures of 100 each in
to 3000 equity share of Rs.10

(3) Investment worth Rs.6000 have been sold out at a profit of Rs.1200

{4) Out of the plant and machinery one machine the book value of Rs. 30000 has been sold out at
a loss of Rs.3000 |

(5) Depreciation written off on land and building Rs.12000 and plant and machinery Rs. 15000,
(6) Paid Rs.12000 as tax for the last year and also paid the amount of proposed dividend of the
last year.

Prepare Cash Flow Statement

OR
(A) What is Cash Fiow Statement? Explain its Utilities and Limitation. _ 10
(B) Explain the difference between TFund Flow Statement and Cash Flow Statement. 05
___)\‘ p——
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